Trapezoid Worksheet 6-6
Name:  _________________________  Date:  ___________________
WXYZ is an isosceles trapezoid with bases WZ and XY and median MN.  
Use the given information to solve each problem.

1.  Find MN if WZ = 11 and XY = 3.
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2.  Find m(XMN if m(WZN = 78
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3.  If MN = 10 and WZ = 14, find XY.

4.What is the value of x if m(MWZ = 15x – 5 and m(WZN = 90 – 4x?

5.  If XY = 21.7 and ZW = 93.6, find MN.
6.  If m(XWZ = 2x – 7 and m(XYZ = 117, find the value of x.
7.  If MN = 60, XY = 4x -1, and WZ = 6x + 11, find the value of x.
8. If MN = 10x + 3, WZ = 11, and XY = 8x + 19, then find the value of x.
9.  If MN = 2x + 1, XY = 8, and WZ = 3x-3, find the value of x.

